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- ~ Suppose that the supply function for some commodity is S(q) =q° +50+100
and the demand function for the commodity is D (q)=350-q?. (15%)
Find : (@) the producers surplus and (b) the consumers' surplus.
= ~ Let P(5-12) beapoint onthecirclex® + y* =169.(20%)
(a) What is the slope of the line joining P and O(0,0) ?
(b) Find an equation of the tangent lineto the circle at P.
(o) Let Q(x, y) be another point on the circle in the fourth quadrant. Find the
sope m, of thelinejoining Pand Q in terms of x.

(d) Calculate Iirg m, . How does this number relate to your answer in part (b) ?

= ~ A baseball diamond is asquare, 90 feet on aside. A runner runs from second base
to third at 20 ft/sec . How fast is the distance S between the runner and home
base changing when he is 15 feet from third base ? (15%)
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